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Part-1 s - f L0)= : :
. Choose the correct answer: | 20x1=20 I1. Iff{x,y)=2x+ye™ then fy (1,0) =
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| | | 12. Ifthe demand function is said to be elastic, then |
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2. IfA=p, By By andAulscofactorofai, ﬁlmthevalueofAmglvenby an >l b) [n,I=1 lngl<t . - d)nyl=0
“ley a32 Ay ¢ s ¥ : ! 13 The percentage of income on 7% stock at 80 is .
"y ' S S 89% 'b) 8.75% c)8% - d) %
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4. Sum of Binomial co-efﬁclent in a.particular expansmn is 256, then the number of terms in the 16 'I_heprobabllllyot'dmmngaspadeﬁ'qmapackofcamls _ |
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. 5. Thelocus of the point P which moves suchthatPmateqmdxstancefromthenrcoordmateaxesxs 17, Correlation coefficient les hetw een y
,a)}’*" bhy=x  gy=x ' d)Y--“ ' - 2)0to b)-1t0 4] -0 = d-lbw
6. Ifthecncletouchesxandy -axis and thefine x = 6thenthelengﬂ10ftherad1us ofthecn'cle1s . 18. 'Ihclmesofmgressmmtersectatthepomt L - gt T
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8) cot4A - b)tandd *  )ootA ~ dtnA
8. 1-2sin’a5’= |
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- PART-II

Note: i) Answer any seven questions in which question rro is compulsory

ii) Each question carﬂos two morlrs

7 411
21, Solve:|-3 5 x|=0
-x 3 1
2. 1 *P =120 °C,, thenfindr.
2, Fmdvertexandfocusofparabola y’--rzx
%, Iff(x) =e* thenpmveﬂratf( )(y)= f(x+y)

25, ffp=xe” thenﬁndﬁreelastrcrtyofdemani B
26. Fmdtheyreldon20%stockat25%prem1mn.

2. Let P(A )——-P(B)—-— Find P(AnB) ranndBaremdependcntevents
28. Definepath. |

29. ProyethatZCOt l(§)=m‘n ‘(g) o

30. Provetl‘rator‘melaﬁmooeﬁicient i the geometric mearrbetweenﬂlerégzeséioncoeﬂicienrs.

PART-III
Note i) Answer any seven questions in which question no. 40 is compulsory
ii) Each question carries three marks : -

2x+y4x__77y13
MMy 7 4| |y xeg plionindxty.

32. Findthe-S‘*torm in‘theexpansion of (x-2y)”.. F

3, Provethat(oosa cosB) (sma smB) 4Sin2(9,_;£).' |

d
34. Find Ex*(e )ﬁomﬁrstprmcrple. |
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3. Letu-— Usngulersthooremproveﬂrat x@+y@—§n

Jx_+—y~ ‘lﬂ""‘l o ax ay 2
X —L_ﬂr by o
3 X+ enﬁnddx ‘ i g ]
37. Compute the mean deviation about mean for the following data,
- [«[z]4le[s]0l2lulie]
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38. Explamﬂletyposofoomlatronoociﬁcrmtswrthexample ;
39. Amaninvests 796,000 on T100 shares at 280 Ifthe company pays him 18% drvrdend, find

) therumber of shares he buys
%) histotal dividend

40, Ifthe equation of acircle x” +y* +a+by Opassmgthroughﬁrepomts(l 2)and(l l)ﬁndthevalues
* ofaandb.”

. : PAKT-IV
Noto i) Answer all the questions. , s _
ii) Each questron carrles five marks ' | o o 7x5=35

33 |
4. 3) [FA=1 4 3 thenvenfyA(ade) (adJA)A SIAJL
13 -

(OR)'
1
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. 2x+1'_ |
42 a) Resolvemtopartralﬁncﬁon( )

| o |
) Whatamonntshouldbe deposited annually so that aﬂer l6yearsaperson recerves?l 67 160 if thc

it 5115 <0368

Vennyuler sthooremfor thefunction u =







